Adda

e

BSPHCL
JE (Civil)

Previous Year Paper
12 May, 2022



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda247

SetId : 77820 2

GET IT ON
Google Play

12-05-2022 B2 LIVE 12MAY JUNIOR ENGINEER CIIVIL

Section 1 - General Knowledge

No. of Questions: 10

1) Which period is referred as a period of stationary phase
of growth of India’s population?

A) 1955-1981
B) 1927-1951
C) 1901-1921
D) 1991-2011

1) fra 31afe & ARA T TATEAT & [Ghra & [T 1oT
FT 379 & T F ST ST 82

A) 1955-1981
B) 1927-1951
C) 1901-1921

D) 1991-2011

2) Which social media App has launched internet money

transfer option in India, as on November 20207

A) Facebook
B) WhatsApp
C) Instagram
D) Twitter

2) AasX 2020 &, T Arerer AAT 0T o HRT H Sclele

At TEHR f[Ahed diea forar 7
A wegs

B) sgeaty

C) Srerama

D)E';ﬁa

3) What is the new malware detected by cyber security
agencies that can take over electronic devices and use

them for Distributed Denial of Service (DDoS) attacks?

A) Thunderbird
B) Filezilla
C) Terapad
D) Saposhi

3) WIZSR GI&T TSI SaRT Tl ofammdT AT AT ATl
@i AT ¥ ST Soleeifeieh 3Ueull 9T gl g Fehel § 3R
3v Sfegeges feamae 3w afdw (DDoS) goelt & forw
3YINT T Fhcll 57

A) oeas

B) wrsaferear
C) amids

D) Farefy

4) The Bengal Sati Regulation (Regulation XVII) was

passed in 1829 by which of the following Governor-
Generals of India?

A) Lord Cornwallis
B) Lord Wellesley
C) Lord William Bentinck
D) Lord Warren Hastings

4) el Tar 3fafags Gifafaae Xvil) 1829 & #iRd &
At fad TaeR-aeRal # ¥ fhae garT aiia fear arr
ur?

A) §TE Frearferd
B) Sifs derstelr

C) its fafomw dfes
D) &its anet afecew
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5) The Hindu Widow Remarriage Act 1856 legalised the
remarriage of Hindu widows in India. The efforts of which
of the following social reformers enabled this?

A) Keshub Chandra Sen

B) Ishwar Chandra Vidyasagar
C) Sarat Chandra Chattopadhyay
D) Jyotirao Phule

5) feq, fatar geidare fefras 1856 o &R # fég
faeransit & geAfdarg #r dt geran| HAefatad & 4 fha
TATS URS & GITHT o1 38 HaTH fohar?

A) F[ dg B
B) $ra dg fag@marR
C) eRerg geearedry
D) sehferTa et

6) Who among the following moved the Objectives
Resolution which was unanimously adopted by
Constituent Assembly on 22 January 19477

A) Rajendra Prasad
B) K.M. Munshi

C) Jawahar Lal Nehru
D) B.R. Ambedkar

6) TFATaf@d 7 & fhdel 22 STAaY 1947 &l Tfaeme e
EART AAHFATY ¥ HUATT T '3eeT HFhed (3eatfea
THTegere) @ aiid faar?

A) Troteg gaTE
B) & ua, };'refr

C) Srarex ofrel Sig®
D) &Y. 31X, 3rFaga

7) In which of the following states is the Tajewala canal
project located?

A) Sikkim

B) Rajasthan
C) Karnataka
D) Haryana

7) faf@a & @ aaarer ag3 aRAeET R g #
rUag?

A) fafFwa
B) Irerean=
C) saftes
D) gfmom

8) Which of the following is a fundamental right and NOT
a fundamental duty of our Indian Constitution?

A) Respecting of our national symbols
B) Protecting the integrity of India

C) Reside and settle in any part of India
D) Preservation of our cultural heritage

8) farafarfad # & et a1 v Alfers TR § 3R o
FiaesT &1 Hiforh deied =16l 872

A) &R TSR Tt T TFAT T

B) gar 21 &7 31 i T e

C) v & Tl off Red & frard e 3% S@ar
D) gamdy e fae farerer 1 @wator

9) The first in-person QUAD leaders summit was attended
by Prime Minister Narendra Modi in September 2021. It

was hosted in:

A) New York

B) Washington DC
C) Chicago

D) Los Angeles
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9) fdsR 2021 H, g FIAY i¥g AT A Ugel sATFdITd T
T QUAD Aar3ft & Riax geaae & omr forar ar| sadhr
AT AEATATRT & & Fgl Hr 718 2|

A) st

B) arfRierest Sl
C) st

D) st ufsred

10) In August 2021, nine new judges were administered
oath of office as judges of the Supreme Court by Chief

Justice of India N.V. Ramana. How many judges among
them were women?

A) Five

B) Two

C) Six

D) Three

10) 39 2021 #, HRA & HTT ~IIATeNer va.dl. AT
EaRT st AT wararefiel @ gafcd =aared & Farardiel &

T H U I AUy RS 3| 3987 & fhasir =aramedrer
AfgaTy Ai?

A) g

B) &y

C) o

D) et

Section 2 - Logical Reasoning

No. of Questions: 10

11) If there are 30 days, we can convert those days into
4 weeks and 2 days are left out. These 2 days are called

odd days. In 36 days, how many odd days are there?

A1

B) 3
05
D)7

11) 39K 30 & &, aF &4 37 f&aT T 4 FedTg H deof ohd
g 3R 2 e v T €1 57 2 et oY faweT et T Srar B
36 feat #, foraet fawa fear €72

A1

B)3

C)s5

D) 7

12) Select the alternative that will replace the question

mark in the analogy Quadrilateral : Two :: Triangle : ?.

A) Two
B) Three
C) One
D) Zero

12) 39 faehed &l TheT X ST ATeT Tqelsl : ar :: TSl
: 2 F g et i gfaeafa s

A ar
B) &1
C) usx

D) grr

13) Which is the next figure in the pattern of given
question figure?
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Problem Figures: Answer Figures:
s ¥ —+a-+a-+| [FA+[A-+] DA[A-+
- _O]-_O o) o0 OO0 OO0 @ -0 O
ADOGADGADS OO LI o 00 +|®
(GV] ®) © ®  ® (0] (€] (©)] @

A1
B) 2
C)3
D) 4

13) &Y 978 92T 3ThTc o Yot 7 3TN HTepicy leT AT 87

Problem Figures: Answer Figures:

T [ —+a-+a-+ [FA+A-+] DAA-+

- o- o of oo oo oo e -lo o

aDelanelane| oe| e/ (e [0 [eo+le
@A) ®) © ® ® @ ()] 3 (O}

A) 1
B) 2
C)3
D) 4

14) Few students collected fund for the physically
challenged children of % 6,00,000 by making equal
contribution. Had each of them contributed ¥ 2,400
extra, the contribution would have been % 7,20,000. The
total number of students was

A) 113
B) 50
C) 77
D) 60

14) F© BT o Teh HATST ATeTe ieh MR F9 F feeamr
gt & felw 2 6,00,000 &7 %3 T fohar| Ife 306 @ 36

o %2400 &1 3% Ierer fonar giar at, JeereT T afer
% 7,120,000 8T 378 @Il | o7 T oot HEAT fehetelt A1?

A) 113
B) 50
C) 77
D) 60

15) Select the alternative that will replace the question

mark in the analogy Infant : Baby :: Woman : 7.

A) Girl

B) Lady
C) Boy

D) Human

15) 39 fasheq 1 T Y S ATy e« < = Afger
: 2 7 v Riea & gfaeanfag Hem|

B) &r
C) szt

D) Arra

16) If 21 @ 11 = 31 and 81 @ 10 = 90, then the value of
20@ 3is

A) 21
B) 22
C) 23
D) 25
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16)21%21@11=313-ﬁT81@10=9O,?—ﬂ'20@3$l'9:ﬂ?|'
&

A) 21
B) 22
C) 23
D) 25

17) 1/3rd of a bottle contains 8 litres of water. Three
such bottles are filled completely. The total amount of
water present in these three bottles (in litres) is

A) 63
B) 61
C) 78
D) 72

17) U Sidol & Ueh TgTs H19T & 8 ofleX ureir | 0T & et
Siel 0 e & #7100 g5 €1 37 e et & FHisfg arer v
Fel AT (e A) &

A) 63

B) 61

C) 78

D) 72

18) What is the next term in the given series?

The series is 117, 125, 121, 129, 125, ?

A) 133
B) 129
C) 119
D) 117

18) & S H@em H WS HEA T g?

W%’ 117,125,121, 129, 125, ?

A) 133
B) 129
C) 119
D) 117

19) What is the next term in the given series?

The series is 844, 422, 633, 1582.5, ?

A) 3289.75
B) 4467.75
C) 5538.75
D) 7443.75

19) & IS H@em H WS FEAT FT;T§?

AT §: 844, 422, 633, 1582.5, ?

A) 3289.75
B) 4467.75
C) 5538.75
D) 7443.75

20) If 'Cube'is related to Twelve then, 'Square' is related
to

A) Six
B) Eleven

C) Twelve
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D) Four

20) If¢ 'O '9RE & Fafdd &, @ 'T97 fohw & dEfRa g7

A o
B) 7ag
C) g
D) a1t

Section 3 - General English

No. of Questions: 5

21) Identify the Antonym for the word - valor

A) cowardice
B) color
C) ardor

D) squalor

22) ldentify the synonym for the word - buttress

A) reservation
B) suppression
C) reinforcement

D) weak

23) Identify the part of the sentence that has an error:

They selling chicken and eggs as they own a huge farm.

A) They selling
B) chicken and eggs
C) as they have
D) a huge farm

24) What kind of a phrase is the underlined part of the
sentence?

The doctor asked the patient to come after one week.

A) Verb Phrase

B) Noun Phrase

C) Adjective Phrase
D) Adverb Phrase

25) Choose the correct word substitute for the following
sentence:

Lasting for a very short time

A) Ephemeral
B) Epiphany
C) Energetic
D) Enigmatic

Section 4 - General Hindi

No. of Questions: 5

26) fAFT & & -2 fohar geTe &7

A) 35aT
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B) ggar
C) =
D) e

27) %1 oA A @ T 7 T § WY AT Igred -

A) aig-ai et

B) AR

C) gelraet-geirae
D) stere-gery

28) ‘GE TOT GEceh §l' g FohH HAATH & Teh 3600
arg §?

A) veeTaTds

B) sifareagaras
C) Peagars
D) feretaraes

29) TFATIRIT Si-AT 2reg TARTRR" T TATIATT 2Tec, 72

A) 3rq3T
B) qras
C) e
D) argetr

30) e & @ 'S¢ T TR -5l HeTaR &1 3Fd
ITFATE?

A)aﬁraﬁrgamﬁﬂﬁm

B) gt it et 3ureretr g, ¥eT @Yl &, 3¢ 98! W a8 a%]
.

C) &I a3 e TR A& fovar ST Gehar

D) farefY oY SITeT oy HHTS=T o @l

Section 5 - Basic knowledge of Computer

No. of Questions: 10

31) Engineering workstations or accounting PCs
connected with wired connection in an organization is
an example of which of the following?

A) Local Area Network

B) Metropolitan Area Network
C) Wide Area Network
D) Hybrid Area Network

31) fre Hatod & IS FoaRE ¥ S5 FoNfwARar
FHEATT AT 3rp3fear PC Aeafaf@a & O g &1
3CTeX0T 87

A) Serer TRET Aead

B) sgiiferest wRaT ek
C) arss wREm Aeash

D) grsfirs R seads

32) Which of the following are TRUE about LAN?

i. LANs are designed to allow resources to be shared
between personal computers or workstations.

ii. The resources to be shared in LAN can include
hardware like a printer.

ii. The resources to be shared in LAN can include

software like an application program, or data.

A) Only ii and iii
B) Onlyiandii

C) Only i and iii
D) All i, ii and iii
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32) LAN & SR # faeafaf@d & @ =i a1 |@@r g2 34) AFATATET A | fohdt g T ATETSH gl STl & Sl

g A&t oY fAsarfed aar 872

i. LAN &, ST Shege AT geheeelel & sli<l HHTEET dHr A e
ST el T 3TATT ol o ToIw T3mmgeT fanar s g A

B) sitefeer faeen
ii. LAN & @rsTr fhT Siey arer §aTeEt & grsadR o ey, C) s
QATTA g /el B 1 D) U
iii. LAN & 11T fohT STt aTel TaTeT 3 TiCelehere Wiame a1
3TT S AIFCAI] AT & Tohl g

35) Arithmetic/logic unit is an integral part of
A) Fae i 3 jii A) Disk Storage
B) &geri 3T B) Control Unit

C) Memory Unit
C) sharer i 31N ii D) CPU
D) i, ii 30 iii el

35) 3HATOTT/dF SHhS, T H T FTHT T T AT
33) Which of the following certificate validates the domain

3T E?

that is registered by a system administrators?

A) T TERer
A) Organization Validated SSL Certificate )
B) Domain Validation SSL Certificate B) acter gfe
C) Extended Validation SSL Certificate C) A7 3fe
D) Internal Validation SSL Certificate °

D) cPU

33) o # @ Fla @1 Fficfhhe (FHOHE) RBeed
USTATAEEET GaRT sfiehd S &l HwT el g2

A) srifarsae dfases SSL aféftree 36) MS Office is a
B) L
S afersereT SSL aféfre A) Hardware
C) wagdss afarse SSL afeftrae B) Software Application
D) & \aRereT SSL afefpe C) Package of both Hardware and Software

D) Networking Tool

34) Which of the following is called as brain of the

computer that executes program instructions ? 36) THTH Hifthg AT A T FATR?
A) Memory unit A) gréde

B) Operating system B) &

C) Motherboard HIFCIIR ToelThled

D) CPU C) gréaar 3R TR gt &1 dahat
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D) sreafhr gor

37) Internet is a network of all

A) computer networks across the globe

B) Government networks across the world

C) Educational networks across the world

D) Government/Educational networks within a country

37) §eaiT AAed &

A) gfera 8 & T SegeR Aead #
B) gferem s & W AN e v
C) gfera sr > wsh ey sveads
D) forei ger 3 37T TR/ A sieadh @

38) Which of the following statement is INCORRECT in
the list of benefits of Computer?

A) ltis areliable and versatile machine that can be used
in work automation

B) It can grasp cause and effect of any event and decide
actions accordingly

C) It crunches data at a faster rate and produce results
very quickly

D) It produces accurate results, it never gets tired and
works 24x7 without break

38) &YX & T g A earfofld 7 & e a1 e
TeId 87

A)agwﬁaawhzraﬁ?aga@mm%maww
FIY TTATAT A TohaT ST TehdT &

B) 7g fRelY off TrealT & $ROT 31X UHIT T THAST Tl &
3 38 AR HRATS TF HY el &

C) w1 Ioft & e i sy el € 3R A STedl aRome &ar
g

D) oz wée afkome &ar &, TE el Tehar 78T & 3R e
o & i O F1H Har g

39) What is the difference between Main memory and
Storage device in a computer?

A) Storage device is used to data permanently whereas

main memory is used as work space for executing
instructions

B) Storage device and Main memory stores the data
permanently and main memory is used as additional
stores during peak load

C) Storage device and Main memory stores the data
temporarily and main memory is used as additional
stores during peak load

D) Storage device is used store user data and Main

memory is used to store program codes and sub
programs

39) Y A Aol AART 3R TR F3arsd # 47 3R &7

A) TR f3aTsd T 3TAT TART T F 3T F TR A
& T fham ST & STafer A AARY T 3uAer fdert
fasurfea et & forw a- T80 & §9 H fhar STar g

B) Tl RRarsw 3R A AAY 37 & TRl §9 @ TR
FTd § 31 AT A F fep s & Sl ifalea &)
& T H 3UANT R AT &

C) TeNet RRarsy 3R A« AANY a7 & 3rEUr) §9 ¥ TR
A & 3R AT AR ) Nep AN F 2R 3faReFT &R
o T H 393197 fohaT ST &

D) Fei¥st fEarss &1 392197 Gl 3eT TR et & fore i
ST § 3R A AANT &1 3930 NanH i AR F9-
THITH T TeR e & [T T SITar &

40) Which among the following is used to browse on the
internet?

A) Telnet

B) Netscape
C) Eudora
D) FTP

40) fFafaf@a & @ frgeT 3UAT §edeie T A3 I b
T foRar SiTar &7

A) ol
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B) sewra
C) q@v
D) FTP

Section 6 - Civil Engineering

No. of Questions: 60

41) A point in space may be assumed to be in one of the
four quadrants formed by the planes. If a point lies in the
first quadrant it means that it is

A) above H.P only

B) below H.P and on V.P

C) above H.P and in front of V.P
D) above H.P and behind V.P

41) T4 # Teh g, Tolel G@RT TS IR T 91 & & Th
YA AT ST Hebcl & | TS Teh Toig T =g a77er A Ty
2 A e Adee U8 & ¥ 9w

A) FaT HP & FRE
B)HP&asikv.pard

C) H.P & FW 3R V.P & A1t &
D)HP&FwIRVPHFITE

42) Isometric scale is used in Engineering drawing to draw
isometric projections from orthographic views. This scale

is the ratio between the isometric length and true length
which is equal to

A) 2/+3
B) V2 /3
C)3/V2
D) 3/2

42) gATASET YA, Sonfaafier giger # sdawoig =g &
FATAIT 9819 37 it & forw waier fovar Srar g1 ag AT
TATAT FaT$ 3R Qe oiaTs & drer & 3fqurd § it

A) 2/ 3FH TR E
B) V2 /3 & sRIeR ¥
C)3/2F R
D)3/2mexd

43) Diagonal scales are generally used for representing
how many units of measurement?

A) Five Units
B) Three Units
C) Six Units
D) One Unit

43) AT YA 37T AR 9 ATT F fohder gprsar 1 gy
& T 39T T S 8§72

D) we gers

44) A box of 1728 m3 volume is represented by a block of

216 cm? volume. The R.F( Representative Fraction) will
be

A) 1:250
B) 1:100

C) 1:200
D) 1:500

44) 1728 m3 3T % Teh Siard HT 216 cm?3 3T & Th
selleh GaRT 2T ST ¢ R.F (f%9es ffesT) grem

A) 1:250
B) 1:100
C) 1:200
D) 1:500

45) When a point lies on both H.P and V.P, its front view
and the top view are obtained
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A) on the H.P only

B) on the V.P only

C) on the Reference Line
D) behind the V.P

45) 19 T g gt H.P 3R V.P oX e §, o 38 e
T IR T T

A) Sdel H.P 9 9Ted R STTd &
B) &aer V.P W uIed R ST &
C) Tiest Y@ oX gred fhT S &
D) v.p & W ured fahw ST &

46) When a brick is cut into two halves along its length,
one portion of it is known as

A) King Closer

B) Cornice Brick
C) Queen Closer
D) Mitred Closer

46) ST Teh S Y 3T oiaTs & feemm # af ffeat 7 e fgar
ST &, I 3T Ueh AT fhdreh & H SATAT ST 872

A) T Fare
B) T
C) & it Feltor
D) fixgs reliom

47) The test to check the presence of poorly weathering
calcium carbonates in sandstone is

A) Absorption Test
B) Smith's Test

C) Acid Test

D) Attrition Test

47) ST e H 3769 3T hicAH Hlefae HT 3ufeafa
&Y ST et F T i a1 gdveTor &7

A) 31geiTSoT gdeToT
B) ey wdreror

C) 3t gdYetor

D) Ferdor aderor

48) The carbon content in mild steel is in the range of
approximately

A) 0.09 to 0.11%
B) 0.15 to 0.30%
C) 1.00 to 1.50%
D) 2.00 to 4.50%

48) Fg SEUT H FhTeleT 37T hT STaTTaT HIAT FT 7

A) 0.09 ¥ 0.11%
B) 0.15 % 0.30%
C) 1.00 & 1.50%
D) 2.00 & 4.50%

49) The shape of the brick gets deformed due to rain water
falling on hot brick. This defect is known as

A) chuff

B) bloating
C) nodule

D) lamination

49) I8 S T IR &1 U RS & FROT T &7 SR
faspa &Y STTaT &1 I% AW e w9 # ST ST §7

A) T

B) senfear
C) sirgger
D) dfasereT
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50) A viscous fluid which mainly consists of water with
dissolved sugars and salts, circulates in the vascular
system of a plant. Identify the name of this fluid.

A) Pith
B) Cambium
C) Bark
D) Sap

50) Teh {UTeT Aol T HET T A fael e ererent 3R 7o
& |1 9Tl gl 8, Teh TIT & aTgep! dF H YRR el
&1 3T dlaT F AT ! UgTet |

A) frer

B) & fraas
C) s

D) 3

51) Young's Modulus is the ratio of the normal stress to
the

A) longitudinal strain within elastic limit

B) reciprocal of normal strain within elastic limit
C) longitudinal stress within proportional limit
D) longitudinal stress at yield point

51) T3T T AYieh HHTE ol T AT &

A) draer FAT & MR egeed aea

B) SR #T & #iak AT JefTa T SgehA
C) 3iroqenfares AT % $ieR 3regded derra

D) fres dige R e aea

52) In an | shaped section of equal flange width, the
maximum resistance to shear is taken at which of the
following positions?

A) Both top and bottom fibres
B) Middle of top flange

C) Mid point of web

D) Middle of bottom flange

A)

B)

C)

52) SRR foehel §U AT elof fag2r a1 feheTRT TSTS o | 3R

& @S H, IYFIOT FT 3HThdH oy Fe=raf@a d& @ fra
Tufa & forar srar g2

A) gxat ofrg 3 et BrgeT
B) of§ wolest & e

C) a5 =1 e g

D) der wrlest o e

53) A horizontal beam with both ends hinged will be

statically determinate for which type of loading among the
following?

A) Purely vertical load
B) Purely inclined load
C) Only the horizontal wind load
D) Only the horizontal thrust load

53) ATl @ # & fohd T o oIS o ToIT gl [kt &

a1y T aifast e R §9 8 eifia grem?

A) faeer &9 & dead dR

B) farieyr 9 & wgd #IX

C) Faer s yaeT IR

D) Shaer aifeist ererehT a1 IFC R

54) Polar Moment of Inertia of a circular section with
radius R is

(Symbols and notations carry their usual meaning)

given by
TR*
32

7R3
32

aRY
16
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T R*
2

D)

54) 32T R dTel Ueh geilehR TS o Siged o A JTeoT ar
dreR AAc  gEwr fEw S
(srefrer 3T 37eFeT 319Y T 37 7@ §)

TR*
A)
32
T R*®
B 732
T R*
©) 16
7T R*
D) >

55) When a circular shaft is subjected to twisting moment
the stress in any elemental ring will be proportional to

A) its radial distance from center
B) the area of cross-section

C) Young's Modulus of Material
D) Modulus of Rigidity of Material

55) ST Ueh gelTehIX ATFE I AS YT & el foham Sirar
g ar fordr ot vferdiee a1 \ifoss aerg & qera Jearfas
grem

A) Fg A 3T% T H gl &
B) 3reysree #1e & 817 %

C) grasht & ge1 A’ &

D) @t & vear A &

56) As per CGS system, 'Stoke' is the unit of

A) Surface Tension

Pagel3of24

B) Dynamic Viscosity
C) Kinematic Viscosity
D) Terminal Velocity

56) CGS JUTIel & 3TTER Tl fhaehT gerrs g7

A) g o

B) a1fder eamerar

C) gregr arfares eamerar
D) eféfeter der

57) In Fluid Mechanics, Hydraulic Gradient Line (H.G.L)
represents the sum of

A) pressure head and kinetic head
B) kinetic head and datum head

C) pressure head, kinetic head and datum head
D) pressure head and datum head

57) &a Iifaehr H, grssifore If3ue ose (H.G.L) foraes Iier
1 gfafa g s &7

A) gra Mg 3R aIfaeT g

B) arforer of§ 31X gea o

C) grer o, arfarst of 3R Sea ofr§
D) erer of§ 31X 32 ofr§

58) Froude number is the ratio of inertia force to the

A) viscous force

B) gravitational force
C) elastic force

D) surface tension

58) S HEAT, S5cd T &

A) QT T T AT &
B) TTecareneor o T 39T §

C) e et 1 JHegare &
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D) 3wt et 1 31T &

59) A channel of trapezoidal section will have maximum
discharge when,

A) half of top width = one of the sloping sides
B) top width = half of left sloping side

C) top width = 1.5 x one of the sloping sides
D) top width = depth

59) HHFEIRR TS & Tdh Uoldl H HTUehdd foidge AT
feEarst ghem S,

A) a8t TS T 3T = T aTel 3T H & TH
B) s ot =ftsrs = ardt 31 7t g% eyt o e
C) o =t = 1.5 x Telret arelt S[om3it ¥ & v

D) ofr =itsrs = amewr$

60) The velocity distribution in laminar flow through a
circular pipe shows which of the following shapes?

A) parabolic
B) linear

C) circular
D) sinusoidal

60) U IMCATHR TS & ATEIH & SAfHAT & Jdg & 97
faeror fRafaf@d & @ s a1 3reR ardar g7

A) Raerfie
B) Yfas

©) wg
D) Sarasdra

61) The minimum grade of Plain Concrete under
moderate exposure conditions, as per IS: 456- 2000 is

A) M 10
B) M 15
C)M 20

D) M 25

61) IS: 456-2000 & 3R HEIH SHTQ# Fr Fufd & dgd
HICT FhIC T 7GeTdH AS §

A) M 10
B) M 15
C) M 20
D) M 25

62) A moist sand occupies a depth of 15 cm and when
fully saturated it occupies 12 cm. Here the percentage of
bulking of sand is equal to

A) 10%
B) 15%

C) 12%
D) 25%

62) T Y 15 QT T I6S 7 el & 3 L A & Feed
Bl 9T I 12 QFY Y g §1 TgT 3T & FTAT &7 gfaerd
e sRTe 87

A) 10%
B) 15%
C) 12%
D) 25%

63) An aggregate passing through 75 mm sieve and
retained on 60 mm sieve is termed as flaky if its least
dimension (thickness) is less than

A) 40.5 mm
B) 67.5 mm
C) 50.5 mm
D) 80.5 mm
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63) 75 fACHIEY Tl & ATEIH @ TR W 3R 60
el Torell TR AhT T AXET AT Fl Folehl hgd & ITe
3HHT e FoIdH IATH

A) 40.5 ANAR A HAY
B) 67.5 A a A Y
C) 50.5 e A FAE
D) 80.5 AN A weT §

64) Read the following statements and choose the
CORRECT option.

(i)The aggregate is said to be well graded if the bulk
contains particles of almost same size.
(i) The aggregate is said to be poorly graded if the bulk
contains particles of various sizes in suitable

proportions.

A) (i) is TRUE and (ji) is TRUE
B) (i) is FALSE and (ii) is TRUE
C) () is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is FALSE

64) farafaf@d ®¥al & 9¢ iR #Er fAhed |

(i) FH=IT HY 3BT G A FIfhd HeT Silar ¢ I Ak A
T AT  NHR F HUT A gl

(ii) Trfe; 2ireh & Tafest HTRT & HUT IUGerd HeTdTeT H & ol
eI H TG AvfEey &gl S gl

A) () T & 3R (i) Tdr g

B) (i) arerer & 3 (if) & &
C) (i) wér & 3R (i) T &
D) (i) srerar & 3R (if) T &

65) According to IS 456:2000, the dosages of retarders,
plasticisers and superplasticisers by weight of
cementitious materials respectively are restricted to

A) 1.0%, 0.5% and 2.0%
B) 0.5%, 1.0% and 2.0%
C) 0.5%, 0.5% and1.0%
D) 1.1%, 0.5% and 2.0%

65) IS 456:2000 & HJHR WMA-RITH FHIM F Il &
ReTsT, welfcarser iR gurReaFcarss &1 AT HuRer

ShHRm:

A) 1.0%, 0.5% 3 2.0% T & WA &
B) 0.5%, 1.0% 3 2.0% der & Dffa &
C) 0.5%, 0.5% 31R1.0% oo & AT &
D) 1.1%, 0.5% 3 2.0% oeh & DA &

66) ABCD is a square. Bearing of line AB = 40°. Hence
bearing of line DC is

A) 40 Degrees

B) 130 Degrees
C) 220 Degrees
D) 310 Degrees

66) ABCD Te a3T &1 AB & dg«T = 40° &1 safaT DC T
ageT T 87

A) 40 feair
B) 130 faafr
C) 220 faafr
D) 310 fafr

67) Backsight and Foresight readings are crucial to the
accuracy of the survey, so special care should be taken
while recording the readings. The first reading which is
taken after setting the instrument is termed as

A) Reduced level
B) Back Sight
C) Fore Sight
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D) Intermediate Sight

67) HAETUT 1 FhdT & fow JhrdTse iR Gl ffser
HEcaqUT 8, safaT AT Renls o T@g faQy e @
ST AU | 3YHIUT FHI AT A o §1G I Igell JTS9T off
ST & 39 gl AT §

A) &H TR

B) drex fr gfee
C) are= $r gfee
D) wewadf zfee

68) The magnetic bearing of a line is S 30° W. Find its true
bearing, if the magnetic declination is 10° E.

A) S 25° W
B) S 30° W
C) S40°W
D) S 35° W

68) Ueh ollgel T aehld TRAT S 30° W B 3EehT e
TR A1 &Y IfE Fahr 3aR 10° E &1

A) S 25° W
B) s 300w
C) s 40°w
D) s 35° W

69) In a transit theodolite, error due to eccentricity of
verniers is eliminated by

A) reading both the verniers and taking mean of the two
B) reading different parts of main scale

C) reading right and left faces

D) taking both right and left swings reading

69) ¢feste RIAEIeTSE # afetar & Scohoadl & HROTIE AT
HE T SATAT 872

A) aret afeter deaT 3R alel T AT feprerer
B) syeca et &5 FafBkeeT Tt oY e

C) ard 3ik aTd F@ T g

D) gr¢ 31k «TT et &refer a1 f¥d7d Y ggaTr

70) Ten readings are recorded in a level field book. If the

instruments was shifted after 2nd and 6th readings, then
the foresights are

A) 1st, 3rd and 7th readings
B) 2nd, 6th and 10th readings
C) 3rd and 6th readings

D) 3rd, 4th, and 5th readings

70) Ueh ddel Hies I & gF AT ot §1 I 3uhor gt
3R Bod Ofser & a1g Tar=iaRd X fgar srar &, ar rarefte
i A &7

A) gera, ERT 3R Frdar ffFer
B) ga, Toat 3R gwat AfEar
C) T 3R oat dfF

D) Srer, witerr 3R afear dfger

71) The diameter of a bolt hole with respect to the nominal

diameter of 12 mm to 14 mm of the bolt as per IS 800-
2007 Code, should be

A) 1.40 mm more as a standard clearance
B) 1.00 mm more as a standard clearance
C) 1.20 mm more as a standard clearance
D) 2.60 mm more as a standard clearance

71) 1S 800-2007 I3 & HJAR see & 12 AN F 14 fAa
& ATHATT oITH & TaY H dloc B¢ FT I 8T AT

A) 1 ATF Feed & & F 1.40 AT ¥ 30+

HEUSIIY
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B) ver @eter TFeraed & &9 & 1.00 AT @ 31t
gl Tifgw

C) usr ATF Fored & &7 3 1.20 Aeieer & 31fdw
gleTr Tifgw

D) ter A Fearaed & §9 # 2.60 fFcheer @ 3=
gier anfgw

72) Fillet welds used for joining the lapped plates are

generally of right angled triangle shape. The size of the
fillet weld is specified by

A) smaller side of the triangle

B) two times of throat thickness of the fillet weld
C) smaller side of the plate welded

D) hypotenuse of the triangle

72) ditg walel F aifdd g & fav 3uaer fRe ST arer
qefeahl des MMAAR T FHHIT ST HHR F 8 &l
9T des &l 3R fohas ganrt fAfése frar Smar g2

A) TaagsT T BIET ST

B) uefeet des & aTor &Y AlerS #1 &Y =
C) ae2s Tole 1 oer Feam

D) fsgst 1 ot

73) As per IS: 800-2007, the maximum effective
slenderness ratio of steel members acting as wind
bracings should be

A) 180
B) 250
C) 350
D) 400

73) 1S: 800-2007 & 3R, o3 ST & &9 & HrF et
Tl Tl HE Tl I TARAH THTT Tl TaTe glem
TrfRw?

A) 180
B) 250

C) 350
D) 400

74) As per IS 800-2007, Lacing bars and battens in
compound steel columns are designed to resist a
transverse shear force of

A) 1.5% of the axial load
B) 5.0% of the axial load
C) 2.5% of the axial load
D) 0.5% of the axial load

74) 1S 800-2007 & 318K, AT TErer hiors H AT IR
3R AT Y ITTEY Fctel FeT AT AT B T FTRIY el
& foIT feasa fFar s ar g

A) 31ef T 9 T 1.5%
B) 3refrr TR &1 5.0%
C) 37efrr 1R T 2.5%
D) 3refrr 91% &7 0.5%

75) As per IS 800-2007, in a single lacing system, the
thickness of the flat lacing bar should not be less than

A) 1/30th of the length between inner end rivets
B) 1/40th of the length between inner end rivets
C) 1/5th of the length between inner end rivets

D) 1/60th of the length between inner end rivets

75) 1S 800-2007 & 38R FAeTer oIfHar fFed # woic
AT IR Y ACTE FH7 T FA hael AT gl Trfge?

A) 5ot U RdeH & & 1 ofaTsS & 1/30a7 fgear
B) it ©R & RdeH & g &1 oia1s &7 1/40a7 H19T
C) 5ok Us RdeH & o il ofaTS &1 1/5ar fRear
D) st Us RaeH & &< 1 ofars &1 1/60a7 fgear

76) With respect to "PIEV' theory in Highway Engineering,
the letters | and E respectively stand for
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A) Information and Emotion
B) Intellection and Emotion
C) Insight and Equality

D) Insecurity and Evidence

78) Yo1d #H, TEUT UREX & YA FIA & gl ¢l T TTaTSTTET
Y AT et aret 3R TeReT R Sererat hr Feat & forw
UL ST SATeT aTel [A9eTel &Y T Shgl STTaT &7

A .
76) 1S4 SSNferafiar # "PIEV' Rewia & wa &, Forer: | >m?¢mm
IR E R AT 3T B) ared aha
C) grer dahet
A) samrefere 3R gaee D) sreermr s
B) geeaiarere 3R gatere
C) gerarse 3R ST
| ™ 79) What do you mean by a sleeper density of M+7, in
D) g8t 3R whdw

railway engineering?

A) Number of sleepers required per kilometer length

1007
77) The deflection of a flexible pavement under moving B) Number of sleepers between any two stations =
wheel loads especially for a loaded truck is measured (distance in km + 7)
using C) Number of sleepers per rail length = (length of rail in
meters + 7)
D) Spacing of sleepers = 107 cm c/c
A) Benkelman Beam ) Spacing P
B) High - Low Detector
C) Skiddometer 79) YA ST & M+7 & Ueh TNWR Gelcd &1 T
D) Pavement Seismic Analyzer
AdAT 87
A . . ! S
77) AT T AT F A AUER YT FT ST ) 9l Rreltafiey et # 3aearss Tt 1 #ear = 1007
FoREhT 3URNT & AT ST § WS T ARG T & B) foredl & ®eeret & ey TNORT i dEar = (g el +
fore? 7)
C) ufar Yof oiars TRt fr Tear = (e & Yo i oferg +
A) St S 7

B) 377 - oot T
C) Regeiex
D) deree G IACECE L]

D) Fehert & gl = 107 ¥ c/c

80) The minimum radius of curvature allowable for a
roadway with a 100 km/h design speed, when the
maximum allowable superelevation rate is 0.12 and
78) In railways, the signal that controls the movement of coefficient of lateral friction is 0.12, will be approximately
train before entering the station premises and is used to equal to

protect stations and junctions, is termed as

A) 400 m
A) advance starter signal B) 250 m
B) outer signal C) 258 m
C) home signal D) 328 m

D) starter signal
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80) 100 e/ €er f3aTssT a1t arer g AT & forw Ty
Iehcll Sl w gl 3T, STa ATURAH HTAT FuRelder &I
0.12 & 3R ared T &7 a[uTieh 0.12 , STIT8TeT TR Gram

A) 400 m
B) 250 m
C) 258 m
D) 328 m

81) Deduction is made in the brick masonry for the
openings if the area of the opening usually exceeds

A) 0.5 sg.m

B) 0.25 sgq.m
C) 0.35sg.m
D) 0.10 sg.m

81) 3Mufaier & fAT e RS 7 Bswrer fFar Sar § 3R
&YF & 3Ngfeiar

A) 0.5 3ot Hrex F 31T+ B
B) 0.25 geT #lex & 310 {1
C) 0.35 gt #ex @ 31K B
D) 0.10 o7 #ex @ 310 {1

82) The quantity of partition walls and honey-combed
walls are usually worked out in

A) meter

B) square meters
C) cubic meters
D) numbers

82) faaTeTeT EIa 3T ABE-& S aTel ARt T AT Fir
IOTAT HTHAR W F AT &

A) Hrex & frerer STTar &
B) get #rex & Awrar Srar ¥
C) go7 e & RAFrar ST ¥

D) g # fResrel Siar &

83) If the corrugated iron sheets undergo distempering or
whitewashing, the plan area of the sheets while estimating
is generally increased by

A) 2%

B) 7%

C) 8%

D) 14%

83) Ife ATNER g Fr Ty BEEURT a1 FrsearT &
TRl 8, 0T T oAl THYG e o ATl & & 317
AR W g g g

A) 2%
B) 7%
C) 8%
D) 14%

84) If a contractor fails to complete the work, an agency is
employed to execute a part or whole of the work at the
cost of contractor. Such agency is known as

A) Substitute Agency
B) Debitable Agency

C) Secondary Agency
D) Creditable Agency

84) A Teh SehaR 1A & U el H faheT T B, o T
ToldY, ShaR & @ 9N 1A & Ueh GEar a1 X 1 &y
Frifead & F v FAfea Far aar g1 59 @ fr
TS R &9 7 ST ST 872

A) TUTATTwT Totd
B) faeheteir Toidly
C) eFaco: v dh
D) wfeae Toidly
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85) The ratio of the area irrigated during Rabi season to
the area irrigated during Kharif season is termed as

A) Irrigation Ratio
B) Dry Ratio

C) Wet Ratio

D) Crop Ratio

85) ITeiRaT HIGH oh aR1eT AT 817 & WH AlH & gRTeT
fRifareT &1 & 31eTaTel Y FgT AT &

A) RreaT$ 3regard
B

) 3 AT
C)ansa?orm?r

D)WEHFQNTH

86) The ratio of rate of change of discharge in the outlet
to the rate of change of water level in the distributary canal
with respect to the normal depth of flow is termed as:

A) Drowning ratio
B) Sensitivity

C) Efficiency

D) Setting

86) JaTg ST ATHY IEs & Y H 3cole H BErsl &
qRETeT T &T T JeTUT 3R FAAROT MG g H STef T
o GRaclel T & & 3TTUTel I FAT gl STl & 7

A) gr3feer stegara
B) gemanfear

C) gavar

D) aftar

87) The foundation of a weir consists of a horizontal floor
of 30 m length, an upstream pile of depth 8 m, and a
downstream pile of depth 12 m. The creep length
according to Bligh's Creep Theory is

A) 50 m
B) 70m
C)90m

D) 110 m

87) Ush AT I oiig & 30 #HieX a1 Hr vah st vk, 8
HIET Y TGS T Teh ITEETH TTgel R 12 Hiex H1 a16rs

& Tk SBAEEH UTUT BT gl feerer & Hhia fdguia &
3R T T TS

A) 50 #rex
B) 70 #frex
C) 90 #rex
D) 110 #rex

88) If the duty for a base period of 80 days is 1500
hectare/cumec, then the delta for the crop s
approximately

A) 1060 mm
B) 720 mm
C) 540 mm
D) 460 mm

88) 80 fe=iT & MU 3rarfer & forw 5T 1500 geFea’/agH
&, Y weT & ForT Seer oraTaTeT

A) 1060 mm
B) 720 mm
C) 540 mm
D) 460 mm

89) The point where enough chlorine has been added to

a quantity of water to satisfy its disinfecting demand is
termed as

A) Plain Chlorination

B) Pre-Chlorination

C) Breakpoint Chlorination
D) Double Chlorination

89) fore faig TR UTeil & ATAT & 38k HICTURTE glat AT &l
T A & e qaiied FaRisT Hemm a1 §, 38 gl Jrar §
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A) grer Felrisiehior
B) qd sreidisfientor
C) Seprarse Fedarerst
D) sarer et fishiansor

90) A bacterial indicator organism recommended by the
U.S Environmental Protection Agency for monitoring
microbiological quality of water in freshwater is:

A) Salmonella Typhi

B) Escherichia coli

C) Mycobacterium tuberculosis
D) Shigella dysenteriae

90) #HIS Tl & UTeiT S FEHSA A AT J[OTaT I [FIRTAT
& T o, qATeRoT WETOT Toid ganl 3ERifd wh
SaTo] Hehclsh Sfid &

A) FreAiael erghr

B) seaRRrar #rel

C) AT aRTH cgaRaataw
D) Rrererm =i

91) Which of the following statements is INCORRECT
with respect to the characteristics of the water used for
drinking purposes?

A) Water should be protected by artificial treatment

B) Water should be obtained from a source that is free
from pollution

C) All kinds of bacteria and microorganisms should be
absent in water

D) The turbidity of water should be equal to 100 ppm on
a silica scale

91) Wt & WIS & forw 3uier fahw St arel Oredy &
TIRIVAT3it & Hawr & eIl i@d # & it AT HU ITeld g7

A) FRAA 3TAR ATl FT T FA AR
B) Ster 0% A & 1o AT AT ST HGoT & FF @

C) Srar 3 weft g & Sfrary 3R Fewrsha srqafead g
aRT

D) fafare el 9T urelt & Hemaed 100 AT & s’
gl TTfgT

92) The chlorine demand of a water sample was found to
be 0.25 mg/l. The amount of bleaching powder containing
30% available chlorine to be added to treat one litre of
such a water sample is approximately equal to

A) 0.08 mg
B) 0.67 mg
C) 0.83 mg
D) 1.23 mg

92) Uit & Y H FARNST & AfaT 0.25 i/ ars
TS| Ueh oy 30 e & Ul & a1 & 3T & T 30%

3YIY FoARIeT FFcl sellfRIIT T3SV I ATAT I ST
g g

A) 0.08 TRciams
B) 0.67 f&rchame
C) 0.83 fArciama
D) 1.23 faeiame

93) The ratio of volume of voids to the total volume of a
given soil is

A) void ratio
B) porosity
C) air content
D) air ratio

93) ReFdaT & AT A T 31T FeT o Fel AT I AT F4T

g7

A) Rerddr 31egaTe
B) @yrar

C) gar 37er

D) gar 3reqaral
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94) The slope of the flow curve obtained from a liquid limit

test is termed as:

A) Liquidity index
B) Plasticity index
C) Toughness index
D) Flow index

94) Ts ol HIAT YAETOT H U YaTg dsh & Gollel bl T

FET SATAT 87

A) FeTdT FaHIH

B) canfecerar gaeis
C) Hrorzar g

D) yare e

95) The water content of a saturated soil is 50%. If the
specific gravity is 2.4, what is its void ratio?

A) 0.6
B) 1.2
C) 1.8
D) 2.4

95) HJoe HeT &1 STorel 50% g1 Ffe fafIse apeea 2.4 &, ar

35ehT ReFeTcll 3edTd a1 87?

A) 0.6
B) 1.2
C)1.8
D) 2.4

96) Newmark developed influence charts to compute
vertical stresses due to loaded area of any shape below
any point either inside or outside of the loaded area. The
radius of tenth circle for a Newmark's Chart, when it is

divided into 20 sectors and if the influence factor is 0.005
will be

A) 2.54

B) 3.54
C) unity
D) infinite

96) =FHATh & TR (¢N1SS) &1 o IT oY 37eT I7 «eX fohall
o fig @ i) el o 37 & TR (SSs) e Fasg o
glaY aTel FeaTer gfaeel S 01T Y o foIT gerra are 1
e foram| STa s a1 @i 20 Tt 7 fenfaa o
ST & 3R 3R 9871d R 0.005 §, I 73T a1¢ & forw
&Hd Tk Y I T grem?

A) 254
B) 3.54
C) grs

D) e

97) The anchorage value for a standard U-type hook as
per IS 456:2000 code shall be taken as, how many times
the diameter (®) of the bar?

A) 8

B) 16

C) 12

D) 10

97) IS 456:2000 I3 & 3TIHR HTh -3 -g*%%i%rtr
ThoT HTel I §- & TR/ (®) & foheel T[T o &9 & forar
SITQaT?

A) 8
B) 16
C) 12
D) 10

98) The ultimate shrinkage strain value for concrete as per
1S:456-2000 should be taken as

A) 0.0005
B) 0.0003
C) 0.0004
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D) 0.0002

98) 15:456-2000 & 38R shshic & ToIT TR st
Taepfer &1 ATl FaT 87

A) 0.0005
B) 0.0003
C) 0.0004
D) 0.0002

99) Read the following statements and choose the
CORRECT option, with respect to 1S:456-2000 code of
practice.

(i) For a R.C.C column the pitch of the
transverse reinforcement should be equal to
450 mm in all conditions.

(i) For a R.C.C column, the diameter of the
lateral ties should not be less than 1/8% of the
diameter of the largest longitudinal bar and in
no case less than 20 mm.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

99) fFAfaf@a &u=l FI g¢ 3R 1S:456-2000 3reamH
ggar & "Hew A @ @Hew |

(i) IETHT lctd & TAT I7gorees Fediaor T g Fefr
Rufgat & 450 Al & s g =fRul

(ii) IRERAT Fiadd & AT, gred gaey &1 <O gadq a3
3IEEd SR & ST & 1/8 d @ et w161 giell IigT 3 fonelr
Y ATAS 7 20 fAAT & A 7T g1 TR T

A) () a&r &3 (i) Tdr e

B) (i) @& & 3% (i) g &
C) () Frera & 3 (i) g &
D) (i) arerar & 31 (ii) Tt &

100) The overall depth of a simply supported T-Beam is
usually assumed as

A) 1/12 to 1/15 of span

B) 1/2 to 1/4 of span

C) 2 to 3 times of width of flange
D) 1/2 to 1/4 of width of flange

100) AT ¥9 & AT E-e FHr T3 183s 1 3R
9T AT ST &

A R #711/12 8 1/15 &

B) 129 1/4 |

C) foreret §U FoRetRT AT wolerat o1 <lHsT$ & 2 & 3 [T
D) 1/2 @ 1/4 fovehel §U foheTRT AT oot 1 ST
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Answer Key

1 C 31 A 61 B 91 D
2 B 32 D 62 D 92 C
3 D 33 B 63 A 93 B
4 C 34 D 64 D 94 D
5 B 35 D 65 B 95 B
6 C 36 B 66 A 96 D
7 D 37 A 67 B 97 B
8 C 38 B 68 C 98 B
9 B 39 A 69 A 99 D
10 D 40 B 70 B 100 A
11 A 41 C 71 B

12 D 42 B 72 A

13 D 43 B 73 C

14 B 44 C 74 C

15 B 45 C 75 B

16 B 46 C 76 B

17 D 47 C 77 A

18 A 48 B 78 C

19 C 49 A 79 C

20 D 50 D 80 D

21 A 51 A 81 D

22 C 52 C 82 B

23 A 53 A 83 D

24 D 54 D 84 B

25 A 55 A 85 D

26 D 56 C 86 B

27 D 57 D 87 B

28 C 58 B 88 D

29 A 59 A 89 C
30 C 60 A 90 B
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